PreCalculus

February Examination

Answer the following problems, documenting your solution using nouns, verbs, and –ly words.

1. When was the FPS Science Fair? Describe one of the projects.


2. What other thing did Big Ben have to do with The Calculus?

3. A company produces a product for which the variable cost is $7.77 and the fixed costs are $25,700. The product sells for $11.11. Write the total cost as a function of p. Write the profit as a function of p.

4. Given the functions below, give a graph of the following and express the values as simplified functions.
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a) f(g) + h(g)

b) f(g) – h(g)

c) f(g) * h(g)

d) h(g) / f(g)

e) f ο h (g)

f) h(f(g))

5. What is the meaning of the area under the curve created by the following function, from t = 0 to t = 5? What is the area? V is the velocity in m/s and t is the time in seconds.
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	Width
	950
	1400
	155
	520
	412
	737
	100

	Length
	1500
	910
	300
	800
	1000
	1200
	53


6. Given the following data for rectangles, do a T-Test to determine how close they are to Golden. Test at the 7% level. How well did the person do in recognizing golden rectangles?

7. Given that the Taylor series expansion of the sine function is: 
sin(x) = x - (x3)/3! + (x5)/5! - (x7)/7! + ..., compare this with your results from the Taylor series investigation. For how much of x does this work?
8. I think that tan(x) = x. Within 10% error, how many degrees is this True?

9. Use the clock below and the given scale to get the cosine function that matches the pattern of the hour hand from 3 pm Wednesday until 7 am on Friday. The circumference of the clockcow’s pupil is 120 cm.
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10. Verify that the equation for the path of the max/min point of 
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  is of the form
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11. What does Ted Sizer have to do with Big Ben?
12. Is the 4th of Polya’s steps needed? Explain.

13. Using your data from Splitter Splatter – who do you think the killer was? Why? Use the Post-it Note for scale. From the crime scene:
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14. Seed your calculator with the date in the form month-day-year 
(02-02-06) and then run Green Globs. Pick 4 points and hit them with a function.

15. Give the vertex, y-intercept and x-intercept for the following.
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16. Give Domain and Range of:

a) 15(a)

b) Your Splitter Splatter equation of fit

c) The Cowclock function.
17. How do you come to this equation for the Golden Ratio? Use a rectangle from question 6 to verify.
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18. Compare and contrast the three functions from question 15.
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